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Read the following passage carefully and select the most correct answers of the given questions:
(Q. No. 031 to 035)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common
values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

031. According to the passage, traveling leads to -

(1)  exploiting foreign lands. (2) selling our wares to the others.
(3)  understanding human nature (4) establishing our superiority over
foreigners
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032.

033.

034.

03s.

036.

037.

038.

039.

040.

041.

042.

When we meet other people while we travel, we learn to differentiate between
(1)  friends and foes (2) communities and nationalities
(3)  local and universal values (4) 1imagination and understanding

The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable (3) fragile (4) perishable

Traveling helps those who

(1)  want to learn foreign language

(2)  wish to make money

(3)  want to resolve differences among people
(4)  wish to learn fundamental common values

The things we care for are available in foreign lands in
(1)  plenty (2) unrecognizable forms
(3)  some form or the other (4) easily recognizable forms

Choose the sentence in which the correct articles are used :

(1)  The old are respected by the young (2) An old is respected by a young
(3)  OlId are respected by the young (4) The old is respected by the young
Choose the correct ‘prepositions’ to fill in the blanks in the given sentence :

Don’t side those who act contrary national interest.

(1)  for, against (2) to,to (3) to, with (4) with, to

Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.

(1)  Hidden (2) Covert (3) Apparent (4) Secret
Choose the word opposite in meaning to the given word :

‘Exasperate’

(1)  Belittle (2) Annoy (3) Tarnish (4) Please
Fill in the blank with the appropriate passive form of the verb from the alternatives supplied :
He a written test before he was appointed.

(1)  had been given (2) has been given

(3)  will be given (4) was given

Choose the correct alternative to fill in the blank :

I if I were you.

(1)  will apologize (2) had apologized

(3)  would apologize (4) was apologizing

Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father’s name Manoj?”

(A)  The old man told him whether his father’s name was Manoj.

(B)  The old man inquired whether his father’s name was Manoj.

(C)  The old man asked him whether his father’s name was Manoj.

(1)  Only ‘B’ is correct (2) Only ‘C’ is correct

(3) Both ‘B’ and ‘C’ are correct (4) Only ‘A’ is correct
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043. Identify the figure of speech in the following line :
‘O grave ! Where is thy victory ?”
(1)  Personification (2) Apostrophe (3) Euphemism (4) Epigram

044. Identify the part of the sentence which has an error.
He is well up / these days despite / having ill health / No error
A B C D

I A (2) B 3 C 4 D

045. Name the underlined ‘clause’ in the given sentence :
We come here that we may study.
(1)  Adverb clause of place (2) Adverb clause of purpose
(3)  Adverb clause of supposition (4) Adverb clause of cause

046. Choose the one which is the correct ‘Question Tag’ for the given sentence :
‘Everything is fine’.
(1)  1isn’t everything? (2) isn’t this? (3) isn’tit? (4) isn’t that?

047. Choose the mis-spelt word :
(1)  Asterisk (2) Audience (3) Acrue (4) Almighty

048. Choose the alternative which best expresses the underlined phrase :
He is out and out a reactionary.

(1)  deadly against (2) in favour of (3) no more (4) thorough
049. Select the combination of numbers so that alphabets arranged accordingly will form a meaningful
word :
A S K 1 R H
1 2 3 4 5 6
(1) 264315 (2) 543126 (3) 513426 4) 312645
050. Select the combination of numbers so that the parts arranged accordingly will form a meaningful
sentence:
1. engaged in other 2. they are 3. because 4. it is difficult
5. servants in big cities 6. to find man 7. profitable professions
(1) 4617352 (2) 2534671 3) 4653217 4) 7132546

051. State what part of speech is the underlined word :
She likes the same colour as I do.
(1)  Adverb (2) Relative pronoun(3) Preposition (4) Conjunction

052. What does the underlined modal auxiliary express?
If it should rain, they will not come.
(1)  Supposition (2) Duty (3) Suggestion (4) Advice

053. Which of the following pairs is not correctly matched as ‘one - word substitution’?
(1)  Absence of government - anarchy
(2)  Government by the nobles - autonomy
(3)  Government by one - autocracy
(4)  Government by the officials - bureaucracy
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054.

055.

056.

057.

058.

059.

060.

031.

032.

033.

Choose the grammatically correct sentence :

(1)  The population of London is greater than any city in India

(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India
(4)  The population of London is greater than most other cities in India.

Choose the correct alternative :

(A) Canvass shoes are no longer in vogue.

(B) Candidates are not allowed to canvas for votes on the day of the election.

(1)  Only ‘A’ is correct (2) Only ‘B’ is correct

(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ are wrong

Choose the odd man out :
(1)  Trousers (2) Alms (3) Scissors (4) Innings

Choose the alternative which best expresses the meaning of the underlined idiom :
Monika’s habit of picking holes in every relationship is very irksome.

(1)  Admiring people (2) Finding fault

(3)  Criticizing people (4) Arguing with people
The specialist who cares and treats feet is -

(1)  Osteopath (2)  Orthopaedist

(3)  Chiropodist (4) Dermatologist

Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?

(2)  How should one keep oneself physically fit?
(3)  Isn’tit a shame to torture the weak ?

(4)  What is demonetization?

Choose the correct simple sentence for the given sentence.

He finished his exercise and put away his books.

(1)  Having finished his exercise, he put away his books.

(2)  He finished his exercise by putting away his books.

(3)  To finish his exercise, he put away his books.

(4) In spite of finishing his exercise, he put away his books.

TSt
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT AND PEDAGOGY

Which of the following statement is correct about growth?

(1)  Growth is indefinite in nature.

(2)  Growth is hereditary

(3) It is not necessary that growth will occur according to the chromosomes during conception

(4)  Growth does not control the biological structure built up with the help of chromosomes.

Which of the following statements about motor development of infants incorrect?
(1)  An infant does not have emotional world.

(2)  The behaviour of a child is affected by the behaviour of his parents.

(3)  Growth of movements in children occurs from feet to head.

(4)  Children have intense memory.

Which of the following statement about sensation is not correct?

(1)  Sensation is primary mental process concerning external stimulus.
(2)  Sensation means only awareness of the external stimulus.

(3)  Sensation is getting knowledge about external stimulus.

(4) Sensation is not possible without external stimulus.

Our perception occurs in the nature of figure and background. Which of the following statement

does not support this opinion of Gestalt psychologists?

(1)  While giving meaning to sensation, both figure and background have to be taken into

consideration.
(2)  Considering only the background while giving opinion about some object is not needed.
(3)  There can be change in figure and background.

(4)  This change is dependent on the person who is getting the experience and the nature of

the object.

When an object comes before our eyes even when the object is not there, then it is called imagery.

Which of the following statement is not correct about imagery?
(1)  Previous experience is needed for forming imagery.

(2)  Images formed are all of the same intensity.

(3)  Images become blurred as time passes.

(4)  Images are related to sensations retained by sense organs.

Which of the following type of imagination includes building bunglows of playing cards, building

palaces in air and stories of fairies and ghosts?
(1)  Aesthetic imagination (2) Fantastic imagination
(3)  Pragmatic imagination (4) Productive imagination

“Thinking means arrangement of various aspect of previous experiences in mind”’. Who put forth

this opinion of thinking?
(1)  Stern (2) Stout
(3) J.S.Ross (4) Norman L. Munn
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068.

069.

070.

071.

072.

073.

074.

075.

Following are some statements about thinking process. Which of the following statement does

not explain educational importance of thinking process?

(1) Do not establish relation between an event and its cause by coincidental judgement.

(2) It is unnecessary to use the maxims like 'known to unknown' and 'concrete to abstract' for
concept formation.

(3)  Let the students think critically while studying theorems in geometry, observation in science,
historical events and geographical conditions of various countries.

(4) It should be seen whether there is enough material for making inferences.

Guildford has arranged 120 factors of intelligence into three groups. Which of the following factor
is not included in the group "Operation"?

(1)  Cognition (2) Memory
(3)  Evaluation (4) Method
Gessel has emphasized on __ while explaining the concept of development.
(1)  Characteristic (2) Maturity
(3) Learning (4) Effect
is a formal teaching method
(1)  Instruction theory (2) Bruner’s theory
(3)  Socrate’s theory (4) Normative theory of teaching

The pioneer of cognitive theory of teaching from the group of Normative theories of teaching is

(1)  John Dewey (2) N. L. Gage (3) Socrate’s (4) Herbart

Following are factors affecting personality is a psychosocial factor.
(1)  Physical weakness (2) Culture (3) Heredity (4) Physique

A teacher has to think about both heredity and environment while thinking about human

developmental aspects.

Which of the following statements support the above statement?

(A) To provide suitable environment to students coming to school from different environments
in order to develop their inmate powers.

(B)  To provide subjects by considering each child’s inborn qualities and talents.

(C)  To enable the students coming from poor and backward classes to progress by providing
suitable environment.

(D) To enable teacher to select suitable teaching method for teaching the students and
understanding their cognitive level.

(1) A,BandC 2) A,CandD 3) B,Cand D 4 A,B,CandD

The process where the subject does not have full freedom of behaviour, that is he does not have
full restriction but has limited freedom and the subject has been given 3-4 options of behaviour,
then it is called

(1)  Instrumental conditioning (2) Motor conditioning
(3)  Classical conditioning (4) Temporal conditioning
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076.

077.

078.

079.

080.

081.

082.

083.

In order to give specific shape to human and animal behaviour and to give specific incentive

for specific behaviour, for eliciting expected behaviour from the learner, type of
teaching is useful.
(1)  Indoctrination (2) Instruction (3) Training (4) Conditioning

Classifying personality based on the secretions of the body in four classes viz - Phlegmatic,
Choleric, Sanguine and Melancholic was done by

(1)  William Sheldon (2) Carl Jung (3) Kreshmer (4) Hippocrates
Analysing the subject by understanding its principles, studying rules and formulae of various
subjects and actually preparing the rules and formulae are the aspects of of transfer of
training.

(1)  Theory of generalisation (2) Theory of formal discipline

(3)  Theory of identical elements (4) Bagley’s theory

Which of the following alternative shows the correct sequence of motivation cycle?
(1)  Attempt, Need, Restlessness, Satisfaction, Keeping balance.
(2)  Restlessness, Attempt, Need, Keeping balance, Satisfaction.
(3)  Need, Restlessness, Attempt, Keeping balance, Satisfaction.
4) Restlessness, Need, Attempt, Keeping balance, Satisfaction.

Which of the following is not included in the factor “Self awareness” of emotional intelligence
proposed by Salovy and Meyer?

(1)  Self control (2) Accurate self assessment

(3)  Self confidence (4) Emotional awareness

Which of the following alternative is not useful for decreasing mental conflicts?
(1)  Stay aloof from the very reasons of conflicts.

(2)  Find out the exact reasons of conflicts.

(3)  Think about the things that are avoided.

(4)  Take advice of elder person.

Which of the following aspect about the learners with special needs is correct?
(1)  The behaviour of these children is normal.

(2)  There should not be different activities in school for these children.

(3)  These children cannot be absorbed in the normal education system.

(4)  There should be independent and different curriculum for these students.

Retention occurs at various levels. Following are given levels and retention information. Which
alternative shows the correct pairs?

A B
(A) [Cognition state 1) |Some things are recalled after small attempt of remembering

(B) [Semi cognition state |ii) |Some things are recalled with great difficulty

(C) [Non-cognition state |iii)|Some things are recalled quickly
(1) A-ii,B—iii,C—1i 2) A-iii,B-1,C—1ii
3 A-i,B-ii, C—iii 4) A-i,B-i,C-—iii
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08s.

086.

087.

088.

089.

090.

When a topic is studied by understanding the internal relations as well as cause and effect relations
and if after a period of time this particular unit has to be recalled then this type of memory is

called as memory.
(1)  Rote memory (2) Rational memory
(3) Immediate memory (4) Prolonged memory

Which of the following teaching method shows the principles of self learning, independence and

cooperation?
(1)  Vinetka method (2) Dalton method
(3)  Project method (4) Gary scheme

When an individual tries to stay in the viscinity of prestigious person and tries to show that he is
very close to him thereby trying to hide his own short comings and increasing his own prestige,

then this is called as type of defence mechanism.
(1)  Compensation (2) Displacement
(3)  Self punishment (4) Identification

‘New experiences mingle with the old ones as per the laws of similarity, proximity etc and form
links.” Who put forth this opinion and put forth the theory of Apperception based on associationism?

(1)  John Lock (2) John Herbart
(3)  Thorndike (4) Skinner

Which of the following method was proposed by Dr. Armstrong for teaching science subject and
development of reasoning power of the students?

(1)  Seminar (2) Symposium
(3)  Meuristic method (4) Lecture method

According to Skinner the main reason why students lag behind in studies is that there is no
reinforcement. Which of the following statement is not correct with reference to above statement?

(1)  Lack of encouragement is a reason of no reinforcement.
(2)  The learning capacity of every student is same standard and level.
(3)  Lack of revision of learning units.

(4)  Reinforcement is done properly if there is facility of personal learning method.

Following are given two columns. Match them and tell which alternative has the connect pairs?

A B
i) | Pedagogy A) | Content is decided by students
ii) | Androgogy B) | Content is decided by teachers
iil) | Mutogogy C) | Content is decided by teachers and students
(1) i-A,ii—B,iii—-C 2) i—-B,ii—C,iii—A
3) i-C,ii—B,iii—-A 4) i—-B,ii—A,iii—-C
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091.
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097.

098.

099.

100.

MATHEMATICS AND SCIENCE

Which of the following is not a prime number?

(1) 431 (2) 437 (3) 557 4) 571

If 341 =a+ b /3, then find the value of ‘a’?

1 4 2 -2 G -1 “4) 2

How many triangles can be drawn from 12 non - collinear points?

(1) 210 (2) 240 (3) 180 4 132

Which of the following numbers, when it is divided by 6, 12, 16 the remainder will be 11?
(1) 1235 2) 1191 (3) 1163 4) 1431

%th part of water tank is filled with water. If 51 litres of water is taken out from it %th part of

water remains in it. Then how many litres of water will be remained in half of the tank?

(1) 90 litres (2) 135 litres (3) 270 litres (4) 180 litres

A base of a triangle is greater than its height. If its area is %xz +3x+2 % , then find its height?
(1 x 2) x+1 3) x+3 4) x+5

What type of number (5 —24/3) is ?
(1)  Irrational (2) Rational

(3)  Neither rational nor irrational (4) Integers

If 3*+37=36 and x+ y =35 then find 3" .
(1 27 (2) 243 3) 1 4 3

Present age of son is %times the present age of his father. 12 years hence the age of son will be
the half of the age of his father. Find the present age of son in years?

(1) 18 (2) 36 3) 12 4) 24
In a hall, there are 20 chairs in I* row, in II"® row 24 and 28 chairs in III"® row. There are total 40

rows in the hall then how many number of chairs in the 28" row?

(1) 128 2) 176 (3) 132 4) 180
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101. In the figure, In A MAN, seg OM and seg ON are the bisectors of £ AMN and £ ANM
respectively, then find m £ OMN + m £ ONM = ?
(1) 55° (2) 25° (3) 135° (4) 45°
102. Find the sum of first 19 numbers. Which are multiple of 7 ?
(1) 1216 (2) 1330 (3) 2527 (4) 1463
103.  Which of the following pairs is a pair of Co-prime numbers?
(1) 187,153 (2) 78,143 3) 75,28 (4) 152,247
104. In a cyclic trapezium measure of an angle is thrice the measure of other angle. What is measure
of small angles of them?
(1) 30° (2) 90° (3) 60° (4) 45°
105. What is a percentage of 5 hours 20 minutes with respect to a day ?
) 179% @ 22%% 3) 22.5% @) 18%
106. If x=4/3, y=3/6 and z="%/7 then which statement is true statement from the following?
() x>z>y 2 x>y>:z 3) y>z>x @ z>x>y
107.  In the figure, a circle of radius 10 cm. is inscribed in a square is shown. Find the area of a shaded
region.
(1) 214 cm? (2) 76 cm? (3) 216 cm? 4) 86 cm?
108. What is a length of a diagonal of the square whose perimeter is 24 cm?
(1)  6y2 cm (2) 6cm (3) 12cm (4) 122 cm
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117.

Two poles of height 6 meter and 4 meter are sets up on a ground at a distance of 25 meters from
each other. What is a height of a point of intersection of line segment joining the foot of one pole
and top of the other pole?

() 18m (2) 2.6m (3) 24m 4) 15m

Sahil taken a loan of Rs. 60,000 from a bank at the rate of 11% p.c.p.a with simple interest. Due
to demonitization the liquidity of a bank is increased. Hence bank reduces it’s rate of interest on
a loan by 0.5% for 11" year and again 0.5% for I1I"® year. What will be the net amount Sahil has
to pay after third year to a bank?

(1)  Rs. 77,800 (2) Rs. 78,900 (3) Rs. 68,900 (4) Rs. 70,900

Perimeter of an isosceles triangles of base 8 cm is 0.18 meters. What is the area of a triangle?
(1) 24 cm? (2) 12cm? 3) 20m? 4) 24m?

In the figure seg MN is a diameter of a circle and line AM is it’s tangent. If AN = 25 cm,
seg AD = 9 cm. Find the radius of a circle?

N

v

A M

(1) 10 cm (2) 16 cm (3) 34cm (4) 15cm

Average age of 36 students in a division is 14 years. If age of their class teacher is added in it
average of age is increases by 1. What is age of their class teacher?

(1) 36 years (2) 48 years (3) 42 years (4) 51 years

If selling price of an article is doubled, the profit accured becomes three times. What will be the
percentage of profit ?

1 75% 2) 150 % (3) 100 % 4) 60 %

Rs. 18,200 is a wages of Sayali earned in February 2014. If she wants still more wages of 14,950.
How many days more she has to work?

(1) 19 2) 18 (3) 23 4) 26

Base of a solid metallic prism is right angled triangle, with hypotenuse 61 cm and if one side of
it is 11 cm. height of prism is 45 cm. It is melted and right circular solid cylinder of diameter 10
cm and of height of 21 cm are made from it. How many such right circular cylinder can be made?

(1 11 2) 9 (3) 7 @ 12

If 6x* —xy:2xy— y*=6:1, the find x:y ?
() 3:2 (2) 5:2 3) 3:5 4 1:3
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Note for Q. 118, Q. 119 and Q. 120 R

The yield of some crop is taken by the farmers during last four years is shown, by the divided bar i
diagram. Observe the graph of divided bar diagram and answer the Q. 118, Q. 119 and Q. 120. ?’fbt

R
Qe
| Scale _ { K
. . [
On Y - axis - Yield of Crop S
lecm IQ Quintals o
On X-axis - Years
s i - | | I Rice
; | ] Wheat
100
1UU
QN
T AV
QLN
oV
o4
S
O 70
G
. A0
UV
)
o
.d—)q L0
>_‘ JYU
40
l “TU
20
JVU
20
L\J
1.0
1Y
1§
>
0 2012 - 201 - 201 - 2015 -
T 4 I 11
£ li—lYearls —7 2 22

118. In which year percentage of yield of a Rice is maximum?

(1) 2012 (2) 2013 (3) 2014 (4) 2015
119. What is the average yield of Wheat in quintals?

(1) 375 (2) 71.25 (3) 33.75 (4) 41.25

120. What is a percentage of yield of Wheat?

(1) 4737 % (2) 4832 % (3) 52.63 % 4) 5420 %
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

A man travels 8 km due east and then 6 km due north. What is the magnitude of his displacement?
(1) 14 km (2) 2km (3) 10km (4) 4km

Total number of atoms in a molecule of aluminium oxide is

H 5 (2) 6 (3) 4 4) 2

Water vascular system is present in

(1)  sponge (2) fish (3) starfish (4) cockroach

What is the SI unit of weight?
(1) Kg (2) Newton (3) m/s? (4) N/m?

Essential constituent of amalgum is

(1)  aluminium (2) copper (3) mercury (4) silver

The plant harmone which inhibits growth of plant is

(1)  auxins (2) gibberllins (3) cytokinins (4) abscissic acid

The momentum of a body of mass Skg is 15 Kg. m/s.
Its kinetic energy is

(1) 20 Joules (2) 75 Joules (3) 3 Joules (4) 22.5 Joules

General formula of Alkene is

(1) CH, (2) CH 3) CH 4 CH

n " 2n+2 n" " 2n-2 n 2n+l

The common passage meant for transporting urine and sperms in human male is ........ .

(1)  Ureter (2) Urethra (3) Vas deferens (4) Seminal vesicle

The intensity of sound depends upon

(1)  note (2) amplitude (3) timbre (4) tone

The substance added to detect leakage of LPG is
(1)  methanol (2) ethane

(3) acetone (4) ethyl mercapton

Homologous organs have
(1)  same structure & same functions (2) same structure & different functions

(3)  different structure & different functions (4) same functions & different structure.
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134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

The point at the centre of a lens on principal axis is called as

(1) pole (2) optical centre

(3) focus (4) centre of curvature

Which of the following is amphoteric oxide?

(1) CaO 2) NaO (3) ZnO 4) MgO

The enzyme responsible for fat digestion is

(1)  trypsin (2) lipase (3) amylase (4) pepsin

An electric current of 10A is the same as

(1) 10JC" 2) 10VvC! (3) 10Cs" @) 10 Ws"

How many electrons are present in Ca’" ion?

(1) 20 2) 18 (3) 22 4 19

Which part of the brain controls the actions like riding a bicycle, running along a straight line etc?
(1)  Cerebrum (2) Cerebellum
(3) Medulla oblongata (4) Pons varolli

A man standing between two parallel walls explodes a cracker. He hears first echo after
2 seconds and 2nd echo after 4 seconds. If sound travels with speed 336 ms™' then what is the

distance between two walls?

(1) 2016 m (2) 1008 m (3) 1080 m (4) 1800 m
Avagadro number is the number of particles present in of that substance.
(1) 1 gram (2) 1 kilogram (3) 1 molecule (4) 1 mole

Which one of the following RNA is the smallest?
(1) t—RNA (2) m—-RNA (3) r—RNA (4) p—-RNA

A ray of light incident normally on a rectangular glass slab. What will be the value of angle of

refraction?

(1) 180° 2) 90° (3) 0° (4) 45°

London forces are present between
(I)  H,Oand HO (2) KlandI,
(3) CH,and CH, (4) Na'and H,O
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Rod shaped bacteria are called
(1)  coccus (2) bacillus (3) spirillum (4) vibrio

When current flowing through the wire is increased by four times then heat produced by wire is

increased by

(1)  four times (2) two times (3) eight times (4) sixteen times

Which of the following sets belongs to the same period of modern periodic table?

(1) F,ClLBr (2) Li,Na, K (3) Li, Mg, Ca (4) AL P,Cl

Which of the following tissues helps in the secretion of saliva?
(1)  Glandular epithelium (2) Columnar epithelium
(3)  Squamous epithelium (4) Cuboidal epithelium

The nature & frequency of electric current used in our homes is

(1)  direct current & 50 Hz (2) alternating current & 100 Hz
(3)  direct current & 100 Hz (4) alternating current & 50 Hz

Bleaching powder is produced by treating chlorine with
(1)  quick lime (2) milk of lime
(3)  dry slaked lime (4) lime stone

‘World Health Day’ is observed on
(1) April 7 (2) April 16
(3) August 12 (4) September 16
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